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[Not more than siz questions to be attempted. [llustrate youy
answeers wherever 1;'1||,'\'.'\'_|’Iﬂlr|'r"_-|

1. How is the ** Tiaw of Constant Composition of a pure Com-
pound ** verified ?

¥ alrch
o) HETKS.

2. What experiments would you perform to show that plants
cannot manufacture starch in the absence of earbon dioxide?
Make sketehies of the apparatus.

35 marks.

3. Describe how you would compare the heat capacity of iron
and of water. Under similar conditions ivon feels colder than
\\'tlcnl -R‘.'ll_\ :

)

35 marks,

4. If the height of the mercury eolumn of a barometer is 76
cut., and the temperature ig 0°C., ealeulate the pressure of the
atmosphere in grams per gq. em. [ Density of mercury at 0°C'. =
13°6 gm. per c.c.]

35 marks.

5. What experiments may be performed in the laboratory to
show that the atmosphere contains oxygen, nitrogen, carbon
dioxide and water vapour?

50 marks.

6. How is the composition of ammonia determined?  What
chemical changes oceur during the process?
50 marks.

48




v

' 7. Make a labelled drawing of the parts of any seed you have
dissected. Describe how you would show that seeds require air
for germination,

50 marks

8. Btate the principal characteristics of any rock in your schoeol
district and deseribe how it 1is being broken up by weathering
and by plants.

90 marks.

9. Make a drawing to show that the wheel and axle is equiva-
lent to a cerfain type of lever. If required to raise a load of 224
Ibs. fifty feet by means of a wheel and axle and a power of 75
Ibs., determine suitable dimengions for the wheel and axle.

50 marks.

10. Discuss the differences between (a) dew and hoar-frost.
(b) cloud and water vapour, (¢) boiling and evaporation, (d)
saturated and unsaturated vapour.

50 marks.

L1. Describe, with sketches, how you would check the accuracy
of the boiling and freezing points of a thermometer. What
numbers represent the fixed points on the Centigrade and Fahren-
heit scales respect ively ?

50 marks.

12. The sides of a four sided field on the 25” Ordnance Survey
map are :—AB 65", BC 565", CD 57", DA 32" and the
diagonal BD is 8”. Having plotted the field, determine its area

o5 b

5" map is v5%+)-

in acres. (The scale of the

50 marks.




